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27 3
2a. {537} b.{x\14}

3, {Si\/zﬁ}
. ][313@}

10

5. {+5.-7}

6. If we set the equation to 0, and factor the left side, we
can set each factor to O and solve.(ab=0,then a=0 or b=0).

7. (2x+7)(4x%-14x+49)

8. 4x(2x-3)(3x+1)

9. (x+1)(x+3)(x-3)

10. 2x%+11x-4

1a.{7,-4} b. {21_2}

1-13 HW Answer Key

Aug 28-1:13 PM

Solve each quadratic using the method given,

2 3
2. Square raots: a) (x-5)=37 b)x*-14=0
(=5 = iE] t-}(?“ :tﬂt{
-5 = +(3]
A X =EHITS
Y2754 S
3. Completing tl'; sqjur!; x2-10%=17 - N 1.5
[(x=3)7" :‘rﬁ:ﬁ
Y=5 = & (ML
X :_ij t @5\3

o b ¢
4. Quadratic formula: 5x*-3x-9=0

Asa=()F-16)A= qiﬁr—m
NENRA_. = 3
X= -{‘ETL /o

X = és t‘ﬁ?-.i

1. Factoring: a) x*-3x-28=0 b) 62 - 11x = 10 p 40

?=-28 (X-)(Kt)=0 brt-x ~16=0 g1
=3 = k=Y bx=(Sx X 10 *)-:)0 y;is

=1t (X ~5) + alax=5)>

! ﬂ({.kx‘b)@“” +)=0

X=5h. [x=-213 55 _ '13

Sep 1-5:13 PM



Day 14 20190NLY Review per8-9.notebook September 25, 2019

5. Grouping: x'+7x"-5x-3520
X2 -50x47 )=0
(X*=5)(x+7) =0

GRS, B
A=k =)

6. How does factoring an equation help us solve i1?
Iy ke H%q%:q{’fu& Fr eq,v 100, and
Vhe left side G5 made &y s fackes,
W (oSl t each FaChta Ho0 dnd Blré-
(O*b‘-‘q it A=0 o b =8)

Factor completely,

7. Bx'+ 343 a=1:13=7 ) 8. 24(1?3-(2;25123; 3) f":—*f?}

= ) Yy =144 = Y% (LK =T~ 5=~
(A1) (ot args) -4~

= oy 3x(@r-3)+10x=3)1

- fo(w-%)(ﬂ)('\-l)

9. xlex-9x-9

= xH(x+\) -4l
= (e (x*-4)

= ()00 43) (X3

)
10. bivide (o353 E‘:y 3 Al

X‘__b l;}{‘.*_s;("—-j?)( Tl
- 2n® e
fx=-3K%
—lK T 53X

— {3 Flo
LSl
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‘What is the difference between factoring and solving for x?

Factoring is breaking down an expression into its smallest factors.
Solve for x is getting a value for x.
Factoring sometimes helps us to solve for x.

Challenge question.
A quadratic in standard form is ax? + bx + ¢ = 0. We can use completing the square in

order to derive the quadratic formula. Start by dividing each term by a.
okt +bx1E =0
Y+ $x+ & =0
yr+dexr - ‘%{: +T |
x & Lx 4‘(52): -a;: &
(Kr2eY= T4 gm
. =Yac. b
(x+ Z2)= —1-—-.;,,."'
X+ - S[Has e
24 - Yq 2
X’*;,ka = F Ty
AR
X= b+ Gidae

Aug 13-2:35 PM

6. (x-4)(x-3)
7. (x-1)(3x-1)

1-14 (Review) HW Answer Key

1. 8x%-4x-5 10. {0, 6, -2}
2. 2x%-10x+5 11. {1, -2/5}
3. 9x%+36x+36 12. {4, -3}
4. 8x3-12x°y+2x°-3xy-10x+15
yo2-3xy-10%15y BN
7 13. { 2 }
. Bx—-6-—
5. 9x 2x+3

14, {4£233)
15. 1.2 seconds

8. (y-4)(y*+4y+16)
9. (4x%+9)(2x+3)(2x-3)

Aug 13-1:04 PM
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Alg 2 Homework 1-14(Review) " Name XK€Y

1. Add: (5x2-7x) + (3x@ +3x - 5) = Ex* ~Hx -G~

2. Subtract: (5x2=7x) - (3x2 + 3x =5 <( 9-# —IO-'K +-s'

o o i

3. Multiply: (3x + 6)2 = (3xre)(3avb) i_-g"" ¥ 369.: rzép

4. Find the product: (2x - 3y)(4x2 + x - §) = S+ —!'C?g-t"fl;ﬁg-éxtaﬂ-h?g
5’1‘ ,f1133+ ?.1(_1'—3;(«3,--(09: -H,S‘a,

5. Divide (10x2 + 3x — 18) by (2x + 3] using long division.
S'Jr.,_iw;e,ﬁ.g,_ )
% r~3{ Oy ®+3x-25
lo ¥ i

.--11,,\.( 25
w2y - 18
i fah. Sl

7 _
Factor: o
6. X2=Tx+12= 7. 32 —dx+ 1= 8. y3 b4 =§ '-! 9. 1é6x4-81 =
(r)(e3) D I-3x-IxH ¢ f(‘é‘ q-X,;u. thy +D (Hyax ) =

3x(x-1)- -1 (%)= ] L\c\‘a

Aug 13-1:05 PM
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Solve: )
10. 2x3 - 8x2 = 24x \ 11, 5x2=3x=2 | 12, @ —4x2 - 3x+12=0
i
PRI DL TV Spt3e-2=0 iﬁ wx -p~3(x-¥) =0

Syt oSyl -2=0 cx-v)(yt-3) =0

¥ t=o r'f—l =e

dn (Wb = 12) O
(30)(x ~e)xe2) = © |Sx(x~t)+2(x-) =0

KE =3

) . =y
;!—\r!'—ﬁ’ X~k =0 K+l =0 (Y-‘ng"")—lo * = ﬁ\fé
¥ o ;:,:g * == y-p =0 | §x425C —
| (Fa 563
( 3 0, ﬁ\ \
1 2.‘ ?-fs e e
13. Solve by using the quadratic formula: 2x2 + 4x=3
""“‘f."*’“{m'3 =0 N . L T
R ) | N-2 »ﬁ'ég
o SR R -
T A I
o' g y
L
B B ST
H-

14. Solve by completing the square: x? - 8x+4=0
K2-Gx+le = -4 e
(x+i)*
v o=k Url-?r
o s I J-U":g“ _
= ] E23 .\\
“\i’.'* 2034 )

Aug 13-1:06 PM
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O = > +13L +7
let>~13E -7 =0

4o 135 [C o 10e)D)

a (k)
f. . 2% ve!
B
t - --Ir_spmt__..-.f_t:'__. 1 [ -
B I; o+
! .
¥
[

Eo fyd

-

'\ L3 Secoaés

15, In o basketball game, Michael shoots a shot from a position of about 7' above the
ground with an initial verfical and horizontal velocity of 13 ft/sec. The height of the
shot is modeled by the function h{t] = -1612 + 13t + 7, where 1 is the time in seconds
after the shot. Unfortunately, Michael shot an air ball. How long does it take the shot
to reach the ground? Solve algebraically and round to the nearest tenth.

Aug 13-1:07 PM
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